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Question Number : 1 Question Id : 8657992602 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT Principle of Growth and Development among the
following
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Development follows uniformity of pattern in a species
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Rate of growth and development is uniform
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Development is spiral and not linear
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Question Number : 2 Question Id : 8657992603 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following can relatively be measured more precisely
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Question Number : 3 Question Id : 8657992604 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following relating to social development during various stages of

development
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A) 0to?2 years
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B) 2 to 6 years

2 Zoobs 6 Honsoren
C) 11tol2 years
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D) 12 to 18 years
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Shows social maturity
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Question Number : 4 Question Id : 8657992605 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
The norms and expectations in terms of general behaviour pattern demonstrable
through conative, cognitive and affective tasks can be provided by the
knowledge of
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Question Number : 5 Question Id : 8657992606 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Erikson's theory, schools should involve high school students in
organizing events as it helps in this positive sense of development among them
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Question Number : 6 Question Id : 8657992607 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Samardh has joined a new Primary School. When his father said it will take 10
minutes to walk to school from home, Samardh asked how much time will 1t
take from school to home. Samardh is in this period of Piaget's Cognitive
Development
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Question Number : 7 Question Id : 8657992608 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Engineers working on reaching people trapped due to tunnel collapse’ 1s an

example for
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Question Number : 8 Question Id : 8657992609 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kriti's parents from the beginning have been granting to whatever Kriti
wanted without making any demands. Kriti as a yvoungster has become so self
involved that she travels alone to simply spend time by herself. The child
rearing practice that reflects here 1s
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Question Number : 9 Question Id : 8657992610 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An mcompetent officer criticizing his subordimates as ‘good for nothing’ people 1s
an example for this defense mechanism
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Question Number : 10 Question Id : 8657992611 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These are factual reports about children’s behaviour reported with adequate
details by teachers. They become a meaningful evidence of his/her behaviour
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Question Number : 11 Question Id : 8657992612 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the process of learning. motives, goals and blocks come under this stage
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Question Number : 12 Question Id : 8657992613 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following relating to learner should be considered if learning
activities are to be planned 1n accordance with the basic potential of the learner
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Choose the correct answer
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Question Number : 13 Question Id : 8657992614 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Thorndike. learning is helped by
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Options :
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Question Number : 14 Question Id : 8657992615 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Reshma is a two year old girl. Her father started to take her for a ride every day
after coming from office for which she gets excited. After few days. she started to
run to the door when she heard the sound of a vehicle outside their house in the
evening. Gradually, she started to run only when she heard the horn of her
father's vehicle. This is an example for
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Question Number : 15 Question Id : 8657992616 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Raga wanted to teach her daughter to make chapatis. She has broken down the
process into smaller steps like mixing the dough, making balls of dough. rolling
chapatis, frying them on pan and helped her to make chapatis. This process of
shaping the behaviour and learning is called by Skinner as
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Question Number : 16 Question Id : 8657992617 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bhumika, a 5 year old gir]l went to the lkitchen and told her mother she wants to
play cooking game with real stove. Her mother explained the risk of burning.
She made Bhumika understand that she has not grown enough to handle hot
utensils and convinced her to drop her plan of playing with real stove. This can
be explained based on Vygotsky's theory as
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Children can learn better by doing
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Children should never be made to do things beyond their level
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Parents should always stop children from doing any activity
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Question Number : 17 Question Id : 8657992618 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The mental status of insecurity experienced by people due to COVID-19 comes
under this domain
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Question Number : 18 Question Id : 8657992619 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Prachi’s mother 1z a famous yoga practitioner. Prachi does some poses to please
her mother. The motivation of Prachi 1=
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Question Number : 19 Question Id : 8657992620 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If later learning inhibits memories of earlier learning it is
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Question Number : 20 Question Id : 8657992621 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
For learning a new concept, a teacher who 1s planning to use the skills already
learnt by the students is trying to bring about
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Question Number : 21 Question Id : 8657992622 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

One of the following helps in effective classroom management
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Expecting same pace of learning from all students
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Question Number : 22 Question Id : 8657992623 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per Section 24 of the Protection of Children from Sexual Offences (POCSO)

Act, 2012, the statement of a child should be recorded by
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Woman police officer not below the rank of Circle-inspector
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Woman Government doctor not below the rank of Civil Surgeon
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Question Number : 23 Question Id : 8657992624 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following activities reflects learners’ influence on community
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Question Number : 24 Question Id : 8657992625 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sharanya studied up to Class XII in her regional language. She joined medical
course and was working very hard to cope with English medium. Because of this
she was losing her self confidence. Her father thought of taking her to a
guidance expert. The type of guidance required here is
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Question Number : 25 Question Id : 8657992626 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bruner has advocated for this form of curriculum arrangement so that it
encourages students to progress in subject matter from a simpler form to
sophisticated levels
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Question Number : 26 Question Id : 8657992627 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Providing resources and opportunities according to specific needs of the

mdividual can be termed as
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Question Number : 27 Question Id : 8657992628 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Physical Environment’ of the school 1z an important factor for consideration in
mstitutional planning. One of the following 18 NOT part of ‘Physical
Environment’ of the school
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Surrounding environment mmcluding air, water and materials with which
children may come mnto contact
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Question Number : 28 Question Id : 8657992629 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In activity based learning. learning can be by
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A)  the child alone
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Choose the correct answer
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Question Number : 29 Question Id : 8657992630 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This section of Rights of Persons with Disabilities (RPWDJ Act, 2016 deals with

*Accessibility in voting” to persons with disability
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Question Number : 30 Question Id : 8657992631 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Art Education according to National Curriculum Framework, 2005 should be

taught during this stage
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Language I Telugu

Section Id : 86579984
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 865799135

Question Shuffling Allowed : Yes



Question Id : 8657992632 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions

Question Number : 31 Question Id : 8657992633 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8657992634 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8657992635 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8657992636 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 865799136
Question Shuffling Allowed : Yes



Question Id : 8657992637 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 8657992638 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
?J‘Lr;- @’;c‘if‘i;‘:éé'a @08 0PN Tonio 26 ?

1. %

Haen
2. % =

Een
3.¢

@gren
4. %

Question Number : 36 Question Id : 8657992639 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 8657992640 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question
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Question Number : 38 Question Id : 8657992641 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes Display Question



4, %

Sub-Section Number : 3
Sub-Section Id : 865799137
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 8657992642 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘G0Ho8” BTN TP 88

R S—
DT ' 88 o weosPio?

Options :



Question Number : 40 Question Id : 8657992643 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 8657992644 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8657992645 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

&

w 3 oy AR . £ .
Hmabiny @ Hob P 28,6082

Options :

2. ®

SOEOE SHob
3. %

D0ar0E Ko
4. %

Question Number : 43 Question Id : 8657992646 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 8657992647 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 8657992648 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 8657992649 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 8657992650 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8657992651 Question Type :

Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8657992652 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 50 Question Id : 8657992653 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8657992654 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8657992655 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8657992656 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8657992657 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 8657992658 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 8657992659 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 8657992660 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
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Question Number : 58 Question Id : 8657992661 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8657992662 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8657992663 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Language II English
86579985
3
Online
Mandatory
26
26
30
0
1
865799138
Yes



Question Id : 8657992664 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The Andaman and Nicobar Islands have been recognised as an
eco-friendly tourist destination. A tourist's paradise, these Islands have
something very special to offer like historic Cellular Jail, Netaji Subhash
Chandra Bose Island. Swaraj Dweep, Shaheed Dweep and Viper Island. The
tropical ever green rain forest, beautiful silver sandy beaches, serpentine
mangrove- lined creeks, marine life abounding in rare species of plants,
animals, corals, birds, etc., are the main attractions of these i1slands and 1t 1s a
memorable experience to the tourists. There is a tremendous scope for enjoying
nature 1n the beach resource. water sports, adventure water sports. adventure
tourism like scuba diving, sea wallk. snorkelling, sea kart. parasailing, trekling,
1sland camping, natural trails, ete.

In December, 2022, the Tourism Department launched an app called My
Swaraj Dweep for the convenience of tourists. The important places of tourist
interests are Cellular Jail. Anthropological Museum. Marine Museum. Water
Sports Complex, Gandhi Park, North Bay, Viper Island, Netaji Subhash
Chandra Bose Island. Chidiyatapu (Bird watching). Red Skin Island. Carbyn's
Cove Beach, Flag Point, Science Centre, islands likes Swaraj Dweep where
Radha Nagar Beach have been awarded Blue Flag Certification, Shaheed
Dweep, Cinque Island. Jolly Bouy, Little Andaman (waterfall), Baratang (mud
voleano and limestone cave), Diglipur (Ross and Smith), Long Island (Lalaji

Bay). etc.

Sub questions

Question Number : 61 Question Id : 8657992665 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My Swaraj Dweep 1s
Options :

a waterfall in the Andaman and Nicobar Islands.
1. %



an app launched by the Tourism Department.
2.¢

the island awarded “Blue Flag Certification.”
3. %

a mud voleano and limestone cave.
4. %

Question Number : 62 Question Id : 8657992666 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, “Chidiyatapu” is a/an
Options :
anthropological museum in the Andaman and Nicobar Islands.

1. %

attractive beach in the Andaman and Nicobar Izlands.
2. ®

mud volcano and hmestone cave on the Andaman and Nicobar Islands.

bird watching spot in the Andaman and Nicobar Islands.
4,

Question Number : 63 Question Id : 8657992667 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, which of the following is not part of adventure tourism
offered in the Andaman and Nicobar Islands?
Options :

sea walk
1. %

scuba diving



sea wave trekking

snorkelling

Question Number : 64 Question Id : 8657992668 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, Radha Nagar Beach 1s located on
Options :
“ Cinque Island.

) Swaraj Dweep.

3 % Netaji Subhash Chandra Bose Island.

Shaheed Dweep.
4. %

Question Number : 65 Question Id : 8657992669 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find out the word from the passage which means “something related to the

study of humankind™.

Options :

Snorkelling
1. ®

Cellular
2. %

Mangroves
3. %

Anthropological
4.



Sub-Section Number : 2
Sub-Section Id : 865799139
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 8657992670 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

India 1= of the two countries.

Identify the correct option.

Options :

the stronger

an stronger
2. %

a stronger
3. % .

atron ger

Question Number : 67 Question Id : 8657992671 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The suspect was accused tampering the evidence.

Choose the correct option to complete the sentence.

Options :

of: over
1. %

with: of
2. ®

3 o of with

in: with



Question Number : 68 Question Id : 8657992672 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I was offered a luxurious hotel and I simply took a rain check.
The meaning of the expression “took a rain check” 1s
Options :
accepted the offer humbly.

1. #®

declining the offer politely.
2.

rejecting the offer rudely.
3. %

grabbed the offer instantly.
4. %

Question Number : 69 Question Id : 8657992673 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The plant 1z known for its properties, as it 1s neither male nor

female by nature.

Choose the most appropriate option to complete the sentence.

Options :

asexual
1.

anti-sexual
2. ®

a sexual



Question Number : 70 Question Id : 8657992674 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The match was called off due to the weather.

Identify the suitable option to fill in the blank.

Options :

mcliment

mklement

mnclement

encliment

Question Number : 71 Question Id : 8657992675 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.
Options :

Sailesh 1s attending along with his friends the meeting.
1. %

Sailesh meeting alone with his friends 1= attending.
g g g
2. S

Sailesh 1s attending along the meeting with his friends.
3. %

Sailesh along with his friends is attending the meeting.
4.



Question Number : 72 Question Id : 8657992676 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

When in Rome, the Romans do.

Choose the appropriate option to complete the sentence.

Options :

did =0
1.

do as
2.9

doing so
3. %

done as
4. %

Question Number : 73 Question Id : 8657992677 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Too many cooks spoils the broth.

A B C D

Options :

C
1. ¢

B
2. %

A
3. %

D



Question Number : 74 Question Id : 8657992678 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher said to the students. “Don’t neglect your studies.”
Choose the reported sentence.
Options :

The teacher advized the students do not neglect their studies.
1. %

The teacher advised the students to not neglect their studies.

3¢ The teacher advised the students not to neglect their studies.

The teacher advised the students not to neglect vour studies.
4, %

Question Number : 75 Question Id : 8657992679 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sachet hardly holds the liquad. ?

Choose the correct option.
Options :

don't they

1. %

dr:: tthv
2.

does 1t
3.¢¥

doean’'t it
4. %

: Yes Display Question

: Yes Display Question



Question Number : 76 Question Id : 8657992680 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

No sooner the room than the telephone rang.

Choose the correct option to complete the sentence.

Options :

did he leave
1.

do he leave
2. ®

does he leaves
3. %

did he left

Question Number : 77 Question Id : 8657992681 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Handle the vase properly it will break into pieces.
Choose the appropriate option to complete the sentence.
Options :

hence
1. %

or else

and then



Question Number : 78 Question Id : 8657992682 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hyperbole is a figure of speech employed for and overstatement.

Choose the correct option to complete the sentence.

Options :

egxageration
1. %

exzaggeration

exageration

exaggeration

Question Number : 79 Question Id : 8657992683 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
On the ocecasion of the festival, the streets were with colourful hights.

Identify the option to complete the sentence.

Options :

lack lustred

1. %

lluminated
2. W

obseured
3. %

doomed

4. %



Question Number : 80 Question Id : 8657992684 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.
A) What happened yesterday?
B) Unfortunately, vesterday a wild fire across the agriculture

fields.

Options :

spreaded

) spread

apreads
3. % 3

spreading
4. %

Question Number : 81 Question Id : 8657992685 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Raghu 1s drunk whereas his friend Somu 1s

Choose the appropriate option to complete the sentence.

Options :

sober
1.
undrunlked
2. ®
inebriated
3.
ntoxicated

4. %



Question Number : 82 Question Id : 8657992686 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The scientist 15 a man of pragmatic approach and so he iz a/an
pErson.
Identify the option to complete the sentence.

Options :

utoplan
1. % B

1idealistic
2. ®

mmpractical
3. %

L practical

Question Number : 83 Question Id : 8657992687 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically incorrect sentence.

Options :

The suspect was summoned before the court.

1. %
. The letter has already been dispatched.
2.
The old man would has been killed in the fire acecident.
3.9

The girl 1s suffering from fever.
4. %



Question Number : 84 Question Id : 8657992688 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The of Chandragupta Mourya is known

Indian History.

: MCQ Option Shuffling : Yes Display Question

as the Golden Period in the

Choose the correct option to complete the given sentence.

Options :

relgn
1.

rein
2. ®

ramn
3. %

ralgn
4.

Question Number : 85 Question Id : 8657992689 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Graphophonemic’ refers to the relationship between
Options :

the written letters and spoken sounds
1. ¢

the spoken sounds and listening
2. ®

the written letters and grammar
3. %

the pronunciation and expression
4. %

: MCQ Option Shuffling : Yes Display Question



Question Number : 86 Question Id : 8657992690 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the mcorrect option regarding ‘Bangalore Project’.

Options :
NS Prabhu was associated with it.
1. %
It 15 one of the experiments conducted as part of Communicative Language
. Teaching (CLT) in India.
2. ‘
It is based on the hypothesis ‘Meaning is best learnt when the focus 1s on
form.
3.
The project was carried out during the years 1979-1981.
4.%

Question Number : 87 Question Id : 8657992691 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the main goal in teaching vocabulary to beginners?

Options :

Memorization of long word lists

1. ®

Teaching advanced synonyms
2. %

Building basic and frequently used words
3. ¢

Understanding Latin roots
4.%



Question Number : 88 Question Id : 8657992692 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the most effective criterion for assessing a learner's writing ability.
Options :

The learner 1s able to copy the text from the textbook as 1t 1s.

1. %
The learner 1= able tg write the dietation without mistakes.
2. %
The learner is able to comprehend to the questions given at the end of
- lesson
The learner 1s able to express ideas coherently and systematically.
4.

Question Number : 89 Question Id : 8657992693 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The study of the origin of words and the way in which their meanings have
changed throughout history is called

Options :

L etymology.

- phonology.

chronology.

morphology.



Question Number : 90 Question Id : 8657992694 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Stephen Krashen's immput hypothesis states that learners progress in their

knowledge of the language when they comprehend language input that 1s

Options :

shightly less advanced than their future level.

1. %

slightly beyond their current level.
2. %

shghtly more advanced than their current level.
3.

slightly more advanced than their previpus level
4. %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Social Studies

86579986
4

Online
Mandatory
60

60

60

0

1
865799140
Yes



Question Number : 91 Question Id : 8657992695 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This layer of the atmosphere absorbs ultra violet radiation and shields life on the

earth from intense, harmful form of energy
TEeS500S) & P8 08ded®ird &8mroi (1Er0d HBD D &) L5008
&@@é BB €8 Grare ok 5800k

Options :

Troposphere

et DPesSBea0
1. %

Stratosphere

refessteso
2.4 °

Mesosphere
oPessitesn

Thermosphere

565 e58e00
4. ®



Question Number : 92 Question Id : 8657992696 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 2002, this right became a part of the ‘Right to Life’
20026°, & ) ‘EDod o5y P arrighod

Options :
Right to Primary Education

ERHNE Doee S
1.¢ ; &

Right to Work

ST,
2. %

Right to Higher Education

ﬁé&é T LYY

3. % i

Right to form Associations

L Sosme JoRytn BB Ly
4.

: MCQ Option Shuffling : Yes Display Question



Question Number : 93 Question Id : 8657992697 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
The famous valley of Kashmir, running over a distance of about 135 km in south-
east to north-west direction, lies in between these ranges
eTyd00 08 araini; BIS T 135800 tirto DB &) Bhe 08,5 S°ddh & Bewe
éﬁtﬁa &ob

Options :

The Hindu Kush Mountain Ranges and the Zaskar Range
BP0t ST 5858 @eaven SBak &5 @63

The Karakoram Mountain Range and the Kunlun Mountain Range

SP8E S0 H838 (B3 B i D8 (B
2. %

The Pir Panjal Range and the Zaskar Range

25 oS @63 5obako 235,56 @B
3.¢

The Hindu Kush Mountain Ranges and the Pamir Knot
POt SR B8 Beanen 5B F0E ToeS



Question Number : 94 Question Id : 8657992698 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The existence of southwest monsoon winds in India is due to

GPEBBE0S® & 5280 S FHS HHBSTen D taran

Options :
Earth's rotation
| % &oe |g5 see0 Do
Differential heating of the land and the sea
g Bahn HEmiEo Seatto 3G Kod” Brre Hoil
2.¢
Ocean currents
235000(85 [PaTeTte e
3. %

Trade winds

E}“EE&E HEHare He



Question Number : 95 Question Id : 8657992699 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Human Development Index Value of a Country ‘X’ 15 0.976. Then, the country
‘X" 1s considered to be in this group of economic development
X' o3 Bdo GIng), e @}a"}a":&% RrE dend) 0.976. esipid, X' od G¥o & @ﬁlég@
aSore HBKBTSH

Options :

High Human Development

@fE SN @dk0
1. % #
Very High Human Development
B8 Sriss @ g@
2.¥
Medium Human Development
. é::uﬁ;@ STRE5E E‘}E\Jgj&%

Low Human Development
963 370550 g g%



Question Number : 96 Question Id : 8657992700 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘A practice of growing two or more crops together on the same field in the same

season’, 1s known as

2.8 sr00d®, &8 Preod® Botb Bur wodEol J%yH Hoted Sodod SEE BE° WOt
Options :

Mixed Farming

s> Hoten Holod HE8
1. %

Crop Rotation

20€) & oes D&
2. % ?

Multiple Cropping
a0y DHoten Hodod HE8

Inter Cropping

o Hoben Holod 558
4.«



Question Number : 97 Question Id : 8657992701 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a country, the negative growth rate of population is observed when
2.8 B0, wrerd® H88re 58 S :553pt0 HAN 5055 HeHVoSH)

Options :

The birth rate 1s more than the death rate

2295 Tt $o8e0 Do Bo& DB 653859
1. ®

The birth and death rate are equal

233559, Sobes Bt DhmHore &5
2. %

The rate of migration is less than the rate of immigration

AR O, BRSNS Ten Lol SX)Smr 65,59
3. %

The birth rate is less than the death rate

229 B, $50es Den Bod) S et
4.



Question Number : 98 Question Id : 8657992702 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following 18 NOT the Four Pillars of Human Development
80B BS® SrsS odd 2B 0%y Frentd Hogred® .58 s0th

Options :

Equity

, REmsso
1.

Sociability

ook
Xl

Sustainability

i £yl
@?ﬁamasﬁ d@

Productivity

ST\ 55



Question Number : 99 Question Id : 8657992703 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify an equatorial crop from among the following
80b 8 S0 grdaiBy Frodos® Q%S Hod Hot HBood
Options :
Tea

1. %

Rubber

2.¢

Coffee
55

Sugar Cane

4% D%



Question Number : 100 Question Id : 8657992704 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Which of the following refers to the Dogger Bank, now known as 'Dogger Land'?
8ob & Bihdo TN ergol’ o hevdad woiid el & 26 Srdikod?
Options :
A small portion of land from the sea in which the people of Holland have

reclaimed

. Feok Haen S5no S0 BBA Frdio ks, ol ¢reriio
1.

The land that is reclaimed from the sea

B0 5008 BBA Fesdiso Tk, 8o
2. %

Part of the North Sea where fish industry is well developed

She DB wrre @50 ol a8y BE0E5ostD ol grifo
3.9

Part of the sea where ship building Industry is well developed
TFee Dovee BB wore 050 BodS B0t Bod grio



Question Number : 101 Question Id : 8657992705 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT the characteristic feature of Organised Sector
& Bob aBS° K%, Sorfo GwE) ©Feo oG

Options :
Small and Scattered Industrial Units

5 0B BeP BB 65 tnol JeBEe S Chrln
1. ¢

Security of Employment
&ard e BOA &oido

Having fixed number of working hours

?C@éﬁ SogS® B2 Koten SO dotito
3. %

Avwailability of overtime facility
£,56 Bo EY 0 DA oEE0



Question Number : 102 Question Id : 8657992706 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This soil is formed from the weathering of igneous rocks
ef) H5;E° 3er B0 Seb DEES Joe
Options :
Alluvial Seil
“ 2,065 Reew

Black Soil
50 OH& Sow
2. ¢

Red Soil
;% W Seen

Sandy Soil

58 Feen



Question Number : 103 Question Id : 8657992707 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Alfred Wegner who introduced the ‘theory of Continental Drift’ was a German
ot Sof rrodo’H BIERGS @EQE 36 a8 astiyR
Options :
Astronomer and Geophysicist
DAY -aﬂéﬁé S0B8din g as raﬂéﬁe}f

1. ®
Meteorologist and Geophysicist
T THNE O LrF8E ToHad
2.
Geophysicist and Mathematician
GrEE% TogaE Sobdkn NBE T8
3. %

Mathematician and Astronomer

K38 B338 0B sn ity aviald
4. % a -



Question Number : 104 Question Id : 8657992708 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, the flattest and the smoothest region of the world is
806 ad3S° @HHotod® By wodiod ST O H)HHT S0l @roso
Options :
Continental Shelf
| % POLEBEH B0

Continental slope

PoEB5Y sren
2.
Deep Sea Plain
50538 ekt sherio
3. ¢
Ocean Deep
SR @rro



Question Number : 105 Question Id : 8657992709 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Among the following treaties, the treaty that was signed in the year 1991 was
& 808 edorres®, 1991 $o0s58 5088 Sodto Sabends edolo

Options :
Strategic Arms Limitation Treaty (SALT)
Jrgebe 8 sdingre H0MS8 adjoio (SALT)

1. %
Strategic Arms Reduction Treaty-1 (START-I)
5SS wdog how asoto-1 (START-I)
2.
The Missile Technology Control Treaty
- 8:563 Jo02BE Aaboes eshoto

Strategic Arms Reduction Treaty-II (START-II)

g5t 35 wcting SN0t adotso-11 (START-II)
4. %



Question Number : 106 Question Id : 8657992710 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, the trade union formed under the influence of Mahatma
Gandhiin Ahmedabad was
808 PEE* Hibar; robd Herdod® ol mrerb & 888 B8 dhrldhs

Options :
Mazdoor Mahajan

Hoe=b HoiFan
1. 5

Girni Kamgar
Ay seaiib

the Indian National Trade Union Congress (INTUC)
5080HS I53S BE rlahS sof® (INTUC)

Bhartiya Mazdoor Sangh
EEaD SeeB Hofo



Question Number : 107 Question Id : 8657992711 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
When Libya became independent from Italy in 1951 after a long struggle, [taly
transferred power to
b8 Porro Soogd 19516° 0GR, abd%0d oo SrobRHp, atod efsreR,) 208
268 FDod
Options :
Muammar Gaddaffi
% S0:5a0,6 et
King Idris

sifon Tre

A Revolutionary Command Council
a8 Dard s E5irol 26

The Socialist Libyan Arab Republic

. 05 DDHS S Bisg8
4,



Question Number : 108 Question Id : 8657992712 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1906, ‘to spread awareness among Dalits by using popular folk arts’ Bhagya
Reddy Varma started
1906&°, $Rg eridts E¥orh add@rhosto Ty $PHed® elmris $00U8mR8s’
8§08 56, HAV FrBodot

Options :

Vocational Work Centre

58 HABoo
1. %

Jagan Mitra Mandali

eslim 808 Sootsd
2. ¢

Telangana Praja Samithi

BLOMPES &P s

Adi Hindu Jativonnati Sabha
&6 ol P88 g



Question Number : 109 Question Id : 8657992713 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The origin of Burrakatha is associated with this movement

QBES Eng) Soreo G o8’ SndHa ¢od

Options :
Young Bengal Movement
ahoh Borrd &tigho

1. %

Brahma SamajMovement

e DS &80

5 % el )
Prarthana Samaj Movement
EPOH HErd Gtsho

3. 0 °® =

Veerashaiva Movement
3)5@53 estisEo
4,



Question Number : 110 Question Id : 8657992714 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Drafting Committee of the Indian Constitution consists of
PGS Tams0l S0P onT 52085 Haat &8 &b

Options :

The Chairman and the nine members

Qtﬂéﬁ sobdto & ah Hob ﬁﬁﬁéﬂ]

1. ®
The Chairman and the six members
DR s0Bdin ethirhth $4hyen
2.¥
The Chairman and the eight members
. B0 00w ARG ool Hghyen
3.

The Chairman, the Vice- Chairman and the seven members

35,5, 3% 56,5 obakn QKrhs a6
4. %



Question Number : 111 Question Id : 8657992715 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Kondagattu Anjaneya Swamy Temple’ is located in this district of Telangana
B oK Boaiiad 3 sedho’ Boorrsd® & gerd’ sob
Options :
Jagityal
esf@ere
1. ¢ =
Adilabad

aberard

Medak

Kamareddy
svaisnaé



Question Number : 112 Question Id : 8657992716 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Indian Constitution, this does not enforce any particular religion
on individuals nor take away the religious freedom of individuals
o TreFgoiio (FHEe80, &8 Treyo SeR o TR BoSoSoTT HEM S SHhe Hd

_E}:jt‘ﬁ &E B0

Options :
Sociahist State
PsingaRl TPego
1. %
Secular State
&°85 Toe0
2.¢
Democratic State
@’aaa“ﬂ“f}{né UDEEF)(J
3. %
Theoeratic State

S0 Treggo
4. %



Question Number : 113 Question Id : 8657992717 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Supreme Court Judgement on this case was considered as the second major

event in the life of the Indian Constitution
S ek K::JL?;J:';::} %55 BENR %d}ﬂ gro8 Tregon iﬁ&téeie Cos) shogyed Eﬁﬁgorﬁ“ @%ﬁ:»’:ﬁéo
srobiod

Options :
A K Gopalan Case
A KRS S

1. #
Golaknadh Case
Fead 8%

2. %

Keshavananda Bharathi Case

S50 ers8 B
3.9

Shah Bano Begum Case

S B0 ED
4. %



Question Number : 114 Question Id : 8657992718 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The International organisation that was started with a twin objective of ‘ensuring

lasting peace and human development’ was
TS 7008 DO HrdD @50 Igeboiste’ o3 Both ogwd® Frdodosnds
©oSPEAD S0
Options :
Non-Aligned Movement

e 0%

1. ®
United Nations Organisation
2500

2.¢
The International Monetary Fund
@oéq;@aﬁ: 85 A6

3. %
SAARC
8 (SAARC)



Question Number : 115 Question Id : 8657992719 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1990, LK. Advani, the leader Bharatiya Janata Party led ‘Rath Yatra’ from
1990€°, art8us abier Jof arabbhd 26 8. erg ey od el 5% BEarE %
UBEFD
Options :
Kanvakumari

S0
1. ®

Varanasi

RHEFR

Somnath
PEarh
3. ¢

New Delhi

Eﬁ:‘“&&@
4.%



Question Number : 116 Question Id : 8657992720 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
As per the Article 324 (6) of the Indian Constitution, it utilizes the services of

Central and State Government emplovees
P58 Tariios°R) ePES 324 (6) 580, mb Sog $bake vy ©Hebd; aiybe el
GO@rNoDB0tnoh

Options :
The Central Finance Commission for economic survey

©0% 585 8550 o 0% Sogho
1. #

The Election Commaission for conduct of elections
e Dsee B0 2 8e Soso
2.

The Census Department for population Census
aseg ifeeid B840 esoree iiesid Derifo

The SC commaission for caste census
S Keard 8550 2b) SRS



Question Number : 117 Question Id : 8657992721 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As perthis article of the Indian Constitution, the President of India can dismiss the
state Government and order the Governor of the state to take over the
administration of the state with the advice of the Prime Minister
PSS Toarg0ii06°R) & 008 FSPE0, HTPHiod HePE® o TUHs Ueg Fikber) St
39, D"Q 158,6 & D‘*;& S5 3&%\ a0 @ﬁ'ﬂdatﬁé{ﬁa

Options :

Article 224

2245 eafi5es
1. ®

Article 280

28055 0080
2. %

Article 356

3565 ©Q50as
3.

Article 352
3525 0bB8des



Question Number : 118 Question Id : 8657992722 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the Lok Sabha Elections held in India in 1971, the Congress Party went to
elections using this popular slogan
19718° gr88B808° bl &°8%e AYLOS', Sofit I8 & axdl AJiod® IYES
EST206

Options :
Garibi Hatao
%68 oot

1. v

Sustainable Development

o @08
@ o

2. %

Save Democracy

e arRgsimsh sealrtiol
3. %

Unity and Diversity
ffﬁ&éﬁﬂﬁﬁ Sf)ééio



Question Number : 119 Question Id : 8657992723 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

“We are going to enter into a life of contradictions, in politics we will have
equality and in social and economie life, we will have inequality” said by
“nio Bogrse £806%8 HIBosdt a0, Tredairdd $irsEo dotnod KBk
PSiras Sbain 08 EDB06° BSrSE dotnod” e T2nD T
Options :
Dr B R Ambedkar

%6860 w025
1.+

Margaret W Fisher
épagaeE ez 236

Joan V Bondurant

&5 9 SPotoorods

Jawaharlal Nehru

23235 erd JpFoe



Question Number : 120 Question Id : 8657992724 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Asper the “Permanent Revenue settlement system” these were given power to
collect revenues
“grdsE By DPUD 2.)0t50” TrgTR Sy SiirentlD fsE0 J08 Bywdod
Options :
Tenants

SrenmEtnes
1. %

Peasants

Gee
2. %

Village heads
P en

Zamindars

v ashomrthed



Question Number : 121 Question Id : 8657992725 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

To put together a programme for uniting Italy into an Italian Republic, Guiseppe
Garibaldi formed a secret society called

50O BEPOADS 8BLEM B0 VLT I8 &8 SEEETY) ErEroBostel8 ARay o)
2.8 85y S0P ot Beeth, B0 awr wotrdh

Options :

Black Shirts

Ef}'-:.'ﬂ.! 07550

Blue Shirts

RO Tz

Red Shirts

B T°57en

White Shirts

e ﬁ“svém
4. % 7



Question Number : 122 Question Id : 8657992726 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Worsley Canal, the First English Canal, was built by
St BOAR SPensd eowd 56 sPenssid D8,008T

Options :

James Brindley

8% Qo
1.V

Stephenson

BRSNS

John Medealf

PR SNGEeH
3. %

Henry cart

R =6
4. % N



Question Number : 123 Question Id : 8657992727 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1991, the dishanding of USSR was announced by
1991 &* USSR 5%:&‘3:- s EotNardh

Options :

Wikhail Gorbachev
1. %

Nikita Khrushchev

5 % Qe Biope

Leonid Brezhnev

OErIE BES
3. % =

Boris Yeltsin

AR - e
L §°08 G0 S



Question Number : 124 Question Id : 8657992728 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the 16th century, a “Seaborne Empire “was established over the Indian Ocean

by
165 $8°008°, &rotim S50 i “Sngs 88 FrEirago” & FDodETS
Options :
Spain
T
England
Borrot
2. % -
Holland
ook
3. %
Portuguese
By AD

4.



Question Number : 125 Question Id : 8657992729 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Social Reformer who fought for Re-marriage of widows, ‘Especially child

widows' was

Q&P BNGEPero ‘Sngore are Do’ BE5H Pords Hogb oyl
Options :
Raja Rammohan Roy
TRe TPal s OPd0
1. %
Ishwar Chandra Vidyasagar
&80 Kol Dyt
2.
Kandukuri Veereshalingam
- LothErs HB¥Doiio
Bhagya Reddy Varma
wﬁéﬁé 358,



Question Number : 126 Question Id : 8657992730 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mahatma Gandhi decided to launch this third major movement against the
British rule after the failure of Cripps Mission

85 ES oD Svvd BER ol H;8050rr ilfar; ol 85 Sreis HrrdDHs &
e855350°R) (P oglowreR) SEonoHHTHD
Options :

Ahmedabad Textile Workers Agitation

o rerd 5% 598,50 sofP S
1. % =

Quit India Movement

§5é5 moddir ﬁﬁﬁée‘ﬁ:l()
2.

Civil Disobedience Movement

FHT 000G G0

Kaira Protest Movement

B0 BN eldgho
4. %



Question Number : 127 Question Id : 8657992731 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
In March 1946, the British Cabinet sent a three-member mission team to New
Delhi to examine

578, 194688, QSR HoG5Eo Hnrht $ehyod® B85 8 oyotrd) B S Eodtrds
525608 HoBod
Options :
the demand of separate state made by the All India Muslim league and to
suggest a suitable political framework for Indian Freedom
oS 3085 &ndo OA TR HEE g domytn P08 568000 Sy¥oE

PESR T8 S Tresdadh SErd) DEDH SahoeOs
1.

the possibility of dividing India into India and Pakistan
GPEEDER) erEBEE0 SHBAM FEFET D LoSrIs Ko esedsn 8%

the demand of All India Mushm League in keeping India united

erBETEd) 8o oo’ ad noddir Sndo O B0 &krol &

BB8DOYTe8
3, %

the demand of Indian National Congress to provide more seats to Muslims
SnRov B Mty @obored grEE e BUD sPofiR BAK &5rol &
, $08D0UTR8



Question Number : 128 Question Id : 8657992732 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following AsafJahi rulers, the rulers who could not get the title

‘Nizam’ from the Mughals were
800 @5 e robed?, Intreren HO8 ‘Vero’ o HHEDH a8
Options :

Nazar Jung , Sabath Jung and Afzal Ud Daula
resb eofl, o8 eof HOdn ©dd &8 Te

1. %
Afzal Ud Daula and Sabath Jung
o35 &b Teor LB S esoh
2. %
Meer Mahmood Ali Khan and Muzaffar Jung
B Zdedurs ©d grd Hoa SweHb wol
3. %

Nazar Jung, Muzafar Jung and Sabath Jung

el mof, Soedb sof Hbcin Sad aon

4.«



Question Number : 129 Question Id : 8657992733 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Green Revolution was taken as a pilot project in seven districts of the country
and was called as
Q¥ Hth Berd® 08 DdaeRY Pl @rEHM SHaeh b HI & Do
DT
Options :
Intensive Agriculture Development Programme

PO Sarah 0850 sedygiho
1. ¢ i

High Yielding Variety Programme
@fE Birvad Sofitre 5re 52 8o
2. %

Intensive Agricultre Area Programme
PO Syardd Erosre SP5yEH0
3. %
Integrated Agriculture Development Programme
éf\l}égé S5adarad @5‘.16"3&@ SglelilsFvle)



Question Number : 130 Question Id : 8657992734 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

Identify the true statement from the following related to National Income

PBUFTRATIS Sow0dod 808 TEE* OGN D ol & Hodod

A) National Income is the total market value of all final goods and services
produced annually in a country
2.8 BF0S e 68,8 iy o) @08 SiHes SO VSO Indo S8y
Dends PEEFTPahHo ©otrd

B) National income 1s the total Income accrued to a country from various
economic activities in a vear’s time
&8 $058)508° DY B8 SY;Eerare Tryoe .8 Beedd $3) Ido esTrdird)
FHATFTED0 WotrH

Options :
Only A 1s true

A SPES 5556
1. #

Only B is true
B Smad $58:58

Both A and B are true
A 58050 BBor 9533

Both A and B are not true

A S00din B Sotir S0
4, %



Question Number : 131 Question Id : 8657992735 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

From among the following, identify the Primary Sector activities
808 BE°, DY SorrdE Bodis s8R HBotod
A) Gardening

8659
B) Bee Keeping
83810 Do
C) Basket Weaving
enée Sa50
Choose the correct answer
53 S5l dohebod
Options :

Only A and B are true

A 56050 BEr@ 5859
1.V

Only B and C are true
B 0805 C Soegad $58:50

Only Cistrue

C S $58:58
3. %

A Band Caretrue
A, B5bdin CHgsa)



Question Number : 132 Question Id : 8657992736 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This type of farming is practiced in areas with High Population Density on land

& BEDS Syrcho ofE aSFroBs &) @rosred® Thkers

Options :
Intensive Subsistence Farming

oS EDTERY SSrabo
1.

Slash and burn method of farming

S, BPe) %ﬁgi"s Sgadeddo

Simple Subsistence farming

. PPSes ST Sydraho
3.

Commercial Farming

aPedey; Sydaeco



Question Number : 133 Question Id : 8657992737 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fixation of minimum support price for agricultural product is done by
SpEddh 8 HedH 595 ﬁﬁﬁmﬁe‘fm GO0 K]gu:}c)é&

Options :

State Ministry of Agriculture

4 S5 ;
w T°8) 5P ah sooBds a°)
Market Committee
58, &5 B
2. %
Commission for Agriculture Costs and Prices
S3arah S 00N
3.¢

Food Corporation of India

griges eapTby écr@
4. %



Question Number : 134 Question Id : 8657992738 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This sector was given more priority in Industrial policy of 1991 in India

ESEBI0E" 1991 FBErhs Jerdos® & Sorrds 25S el adndod

Options :
Public Sector
| Bghess Soro
Private Sector
- @3 Borto

Cooperative Sector

ersed Boiio

Joint Sector

&30,&8 Soifo



Question Number : 135 Question Id : 8657992739 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the following stages of Paper Production, the length and thickness of the paper

1z set at thisstage

RS0 818 ) & $EE° shdo BPE $Bcsm oo el in Al ow

Options :
Spreading the pulp
iDersh DHBotto
L F
Chipping
S e Bahiio
2. %
Making the wood pulp
S ey Saird
3. %
Cutting
g&oh

4. %



Question Number : 136 Question Id : 8657992740 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT the general function of Reserve Bank of India
8ol 8E° BBy a0l o noddir BnE) Frden 6 SR

Options :

Banker to the Government

E34hEe 08 ergo8h e
1. ®

Custodian of foreign exchange

. D8 S0 (655 HoBEes
2.

Control of eredit

2658 Achogtes

Inspection of the banks

a:cécé:e; TH
4,



Question Number : 137 Question Id : 8657992741 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The formal source of Credit from the following is
800 AS® Dahd aweso 3T

Options :

Traders

avéﬁﬂ oen

Cooperative Societies
ePSEd RHosmeen
2.

Money lenders

3 % a’xé g e

Friends and relatives
aerden $HBI potien

: MCQ Option Shuffling : Yes Display Question



Question Number : 138 Question Id : 8657992742 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, National Income 1s calculated by

FESBL0E", erBch erraird), 880t 5
Options :

Ministry of Finance

@gé o8& Ty

Central Statistical Officer
B0 Kol 08500

Planning Commission

3 x  Beedse doo

Ministry of Commerce

acaﬁeaé sDoBE: BoP



Question Number : 139 Question Id : 8657992743 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true related to Social Sciences and
Natural Sciences?
Jeosnd 6?53@:-. Ry -3“%;&;-5’3 Sooobot) & 8ob a‘::-ambm $50%8) 2?
A)  Social Sciences focus on study of social aspects whereas Natural Sciences

focus on study of Physical World

b A—'
v g'.-\
[hS
[
o,

PodnY TAPen PSPEE wodreR @iehdo T, JETS: afﬁée a°
@(ﬁéfﬁjc\-‘:ﬂ 2) r\J‘QéE\ #ﬁmljo;:
B) Natural Sciences have scientific attitude whereas Social Sciences have
belief system
TREEr Foareen v‘a’ﬂ%df: ahi=yale é@ &0l aroing -5“3'?];'? BHBo 5553;15, é%)
ofPon
C) Natural Sciences provide evolutionary suggestions based on observation
and experiments whereas soclal sciences establish facts through
observation, direct surveys and interviews
SRy aren (BEETren, HB8ede TP S8 B0 Srdben 57): Arolng
Fafen, HB8eD, 65 $0:e0, DB e TTe ChTPTremh Jodes Barom
Choose the correct answer
0% SeirTraed)) oo Fahol
Options :
A &B only
A &B sirgeb
1. %
A &' C Gn]y

A& CsrEa
2.
B & C only

B & C sirmgah
3. %

AB&C
4. %



Question Number : 140 Question Id : 8657992744 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following related to Prof. Amartya Sen

&P, @5;-%?;?\:-5 % Somohot) & 8ob il il

Part-1 Part-11
&F6-1 G-11
(Pl*?zc J/award) (:(' ar)
(pE/ o) (Sos8,80)
A)  Nobel Prize 1) 2000
| e 8
&
B) Bharat Ratna award 1) 1998
OE5E) OS5
C) Leontief Prize i) 1999
DTS P

Choose the correct answer
D0 BHrTedn ol 200k
Options :

A-i1 B -1, C-1n

1. %

A—1, B—iu, C-1
2.

A—m B-1 C-u
3. %

A-n1 B-i C-m



Question Number : 141 Question Id : 8657992745 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following identify the true statements related to constructivism
Do° e ys TSNS Somofol) & 8od arseeé® KES BN HBoSod.
A) Piaget suggested that children construct knowledge individually
Deen &EMEorT ePS Jo°eso TEoerPER HOTPE SrDodird
B) Vygotsky stated that social interaction is important for construction of
knowledge
o Aomgaiing® Srolnd BEHGen SR Zres) & HEmD
C) John Dewey believed that learning material should encourage passive
memorization
S5 APl Dy dire s éoé%étﬁmé& B 2 roarer) alR EIRou DE oD,
Choose the correct answer
0% SEPTRSEND Jobs Bohod

Options :

AB&C
1. %
A & C Gn]y
A & C sr@ab
2. %
B &' C Onl}.'
B & C sirah
3. %

A & B only

A & B irEs
4.v



Question Number : 142 Question Id : 8657992746 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Equal opportunity’ 1s
WHard wdsdo’ @hds
Options :
Social value only

oJ OEI-”:E e S_IT'W_éé:

1. %
Political value only
Tr2s80D Dend SrE@abh
2. ®
Both Political and Social value
TeesBdD 08050 Aroing Hend Bodke
3. ¢

Neither Political nor Soecial value
s

& S WY Y S . 3
Tre3Bad S roind Jend Colie soth

4, %



Question Number : 143 Question Id : 8657992747 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Development of good citizenship’ and ‘acquiring skills of making tables and

graphs’ respectively are elements of the following

T G iy S RV . i A . T S o SErSTOR TS emeees

6855 FPI8EEND Dosrodohéy’ b 2e5e, Pe © S00r0 Sagyeroan alolthé
S FR R )

@D WoTTED sl 89S Domobolng

Options :
Aims; objectives
ﬁ§ TG0 ; U0

1.¢
Objectives; aims
OFPre0; ﬁ@@;@

2. ®
Objectives; objectives
&0, ©5ren

3. %

Alms: aims

SRT0eD; BRTOED
G =4 ) =)



Question Number : 144 Question Id : 8657992748 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following zection of Right to Education Act (RTE)-2009 States that an

appointed teacher shall complete entire curriculum with in specified time

=]

o $0%y o (RTE)-2009 &° & 808 258 D0HDH&HES b armrend Jods

7

= £
-
@]

i

%
_L/ X e - L -
230dhod” Sndo Renn D ord DA

=]

Options :
Section-23(1)

285-23(1)

1. %
Section-23(2)
RER8-23(2)

2. %
Section-24(1)(C)
285-24(1)(C)

3. ¢

Section-24(1)(a)
255-24(1)(a)

b= )

4.%



Question Number : 145 Question Id : 8657992749 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Periodicals’ come under
‘DBOIPEESY D8 Sobs Hirow
Options :

Audio-Visual aids

By¥rEsies &50e5ren

1. %
Printed aids only
SBE enETeren SrEH
2. %

Visual aids only

By 5800 T ad

3. %

Both Printed and Visual aids

oy,

5

a0HS Sa88emen; Uy G80een Co

: MCQ Option Shuffling : Yes Display Question



Question Number : 146 Question Id : 8657992750 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These maps represent different Human races distributed in the world

£ Ay I T . R 4 at e SR SR Y. G
&a &e wirren I}Im@ﬂ@@ o:\ln._' Bow ﬁv;‘ﬁ; gj&(‘:) BT P TN rd,“fuf_\fh"f 00X

Options :

Ethnographical maps

R Bt E o
m&F;ﬂr‘T‘- WS wiPen

1. ¢

Vegetation maps

i
I P R A
ceaflelr adTPen

2. %

Climatic maps

BB O0E Héren
3 ® 2 kA

Political maps

Treadadh déeen



Question Number : 147 Question Id : 8657992751 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
To teach the topic ‘Rivers, Valleys and Mountains® this teaching method 1s more

suitable

3194
(T

Problem solving method

T . SR R . R T
JsnarsaBar0 D08
g & .
2

1. %

Resgurce method
Shatoe o8&

2.¢ >
Laboratory method
pOrhEe HO&

3. % il
Demonstration method
DG 558

4, % SF



Question Number : 148 Question Id : 8657992752 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this phase of teaching, instructional objectives are fixed and decision 1s taken
on content to be presented to pupils 1n the class

o

& SO G55 &

r} £l

o5

o e Jrbodatdaron Hbdn S5N&E NARE

(

h
a0
=]

ook T
oy

"
e

SBco JBcho Snsatbd&od

27}

Options :

Post active phase of teaching

e BT
3:5#3 wES O
1 % Bl L:+]

Interactive phase of teaching

o =
086 855 84

2. ®
Pre-active phase of teaching
meSa o€
B
3. ¢

Post active and interactive phase of teaching

= =

D w88, 5086 @%& g en
5

ey
&



Question Number : 149 Question Id : 8657992753 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1980s. the use of concept maps as a teaching strategy was first developed by
1980, & grdar désined i S Fessrore Fnteard Dosrodotd N8
Options :
J.D. Novak

J.D. 555

1.
Vygotsky
gmf’d :E‘
2. %
Posner
P5H 56
3. %
Piaget

B e L
0. <5107
o LLNES



Question Number : 150 Question Id : 8657992754 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Thinlk about the ways to restore the ground water in vour area” — This question

1s aimed at achievement of the following academic standard

-

“Sh Erofod” EriiGeerd; srGrnds SaSHTieds fe amU:wa Kre B3S HoSol”

@i (34 & Sob Dom; Peiremsintd rHohiD 608080886

Options :

Information skills
et dajeeren
1. % :

Feul

Experiments — Field Observation

EarErren — 58 H8stoiden
2. ®

Mapping skills

B DEIETED
3. %

Reflection on contemporary issues and questioning

o A =T ey R o g
JeNERON WoT D) [Rdofotde, @800

4.



